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Note :This paper contains ONE HUNDRED (100) multiple- chowe/assertlon/
reasoning questlons/matchmg questions Each question carries TWO (2)

A"

_marks Atternpt All the questions.

SIS (100) spgfaselly usdl, Wi A °&sst el Usedl 8.
A Ml ool avael B, uds w4 () e .

Deductions to senior citizens’ in
relation to interest Income from

deposits (including savings deposits)

~ with Banks (or) Post Offices for the

AY. 2019-20 is :
(A) T.10,000

(B) T 40,000

(C) T 50,000

D) ¥ 1,00,000 -

2. IGST stands for :
(A) Indian Goods and Services Tax
(B) Integrated Goods and Service
Tax
{C) International Goods and
Service Tax
(D) Internal Goods and Service Tax
Commerce-II

Coapsteel ad 2019-20 i AR

AtlRsd ds auenl (oad wusl

ARA) A ke BA Y wy

Avifd Hadl sud 8.
(A) 2 10,000
(B) T 40,000
©) ¥ 50,000

(D) % 1,00,000

IGST «il 2 :

(A) S-Slun As» ui-s A 24
(B) H-AA2S AYs» Ars Ay 2&

(C) Hr2nund Ys» -6 Uldu 28

(D) Hr2nd ASH A-s uldu 28

[P.T.O]



3. Aided and Unaided recall are 3. BrElHd ViR Bir-vivelH A-sie’

related with : | | deifd B
(A) Advertising Budgét decision | (A) 28d viewwus Fofy
(B) Advertiging Objective decision (B) A4 ég%{‘l ey

'. . E . . - -
(C) Advertising -ffectlveness ©) %lé?.ld A5l Fely

decision |
(D) Alddid QuuBu Felu
(D) Personal selling decision : '

4. «euS (NABARD) -l 22yl ........

4, NABARD was established in the ) )
| aui sl 2udl edl.
Year ceervrenens '

(A) 1935

(A) 1935

B (B) 1955
(B) 1955
© 1969 (C) 1969
D) 1982 (D) 1982
5. SLR stands for : 5. SLR ¥led :

(A) Staf.utbry Liquidjty‘Rate (A) el [asdlsldl er
(B) Statutory Liquidity Ratio (B) Ryl Risdd aeinr
(C) Statutory Liquidity Return (©) Ryl Rsdldd andr
D) Statutory Liquidity Risk ) el Risclld Avin

- Commerce—II 4



. The ratio of exchiange between two

groups in the indifference curve

analysis. is shown by .icoeeeeeeene... .
(A) Price line
(B) Price consumption curve

(C) Income consumption curve

(D) -Production probability curve

Fixed Assets .afe.’to be shown at cost

less depreciation on the basis of :

(Aj Cost Concept

(B) Revenue Concept

(C) Separate Entity Concept
(D) Going Conc;-:-rn Concept

The operationalise online, interest,

mobile banking, and debit card and

credit card tools, one of the below

is not essential : -

(A) Compliance with  the
Information Technology Act,

2000 |

(B) The Right to Information Act,

2005 -

(C) Satellite connection

(D) Selection of a portal and server

Commerce—I1

AHglRd as Reduani O dxgail-i

AMx1aqAl eiar ......... gLt
culaani 20d 8.

A) Byad Iwt
(B) BMd audl as

(C) a5 dupUN 95

(D) Gewed UsUAL 4$

2l Masdil usd il qruRl ous
s34 ealaqnl wadl swair-l
vy :

(A) usdR vl |

(B)I. R ICE R TIC]

(C) Asu-il a3 AHRdsll vua
(D) A5 Add AG Wil vud

windLd, S22, Heuda o4l
1 3612 516 2 32 s waddl
s34 (operationalise) ui lAxMidl

s o33 Al :

(A) WRAl 2s0di® w3, 2000

WM Uy
B) 4l ude g Sesilust WA, 2005
(C) &RARAAR AsIA |

D) wiéa A ud{l yieall
[P.T.0.]



10.

11.

If the co:_'rélation coefficient is 0.8;

" the percentage of variation in the
- dependent variable explained by the

variation in the independent -

variable is :
(A) 0.80%
(B) 80%
(C) 0.64%
(D) 64%

Need for achievement, affiliation

and power are associated with the

theory of :

(A) Learning

(B) Perception
(C) Motivation
(D) Attitude

Which among the following is

closelj associated with intellectual

property rights ?
(A) GATS
(B) TRIMS

(C) TRIPs

(D) MFN

Commerce—11

9.

10.

11.

R USALIELST, Yeu 0.8 sid dl 2ud
35121

oooooooooo

e dlM 2nadl
adat 1l 2uadt 3359 dd
S An wHwd B,

(A) 0.80%
(B) 80%
(C) 0.64% .
(D) 64%

[lal #3ud, Asia v wl3d
.......... -l Rgid WA Asndal 9.

(A) Y~
(B) slefuny
(C) (™AW
D) qa9

el 5y olll@s Aust el wd
aosefl Aoiy 4 § ?

(A) GATS
(B) TRIMS
(C) TRIPs

(D) MFN



12.

13.

14,

MCA stands for :
(A) Ministry of Company Affairs
(B) Ministry of Council Affairs

(C) Ministry of Corporate Affairs

(D) Member of Company Affairs

Implicit costs are -

(A) equal to total fixed cost

(B) ‘compr‘ised entirely of variable

cost

C) ‘payments; for self-employed

resources

(D) always gmater in the short-run

than in the long-run

Circulating working capital is also

called :

(A). Net Working Capital

(B) Regular Wo;;kiﬁg Capital |
(C) Teméc_)rary Working Capital

(D) Permanent Working Capital

Commerce—II

12.

13.

14,

7

MCA _aaa :
(A) PR s su-dl 213

(B) [ﬁF{z\ﬂ 25 s60RuE w3 ._

- (© B s Sidl3e w3l

©) Vo »s sudll w3l
afld v & :

(A) & Ra wi e

(B) ysl »iRa vt Ay 52 D

(©) —you-l dwa-dl AR

‘Ysauell”

(D) Qisl AU $dl 250 dUuHi dRau

QL
sdl w[a[iet'_ism yeL 58 8
@) Al sifola 3ol

(B) [?mﬁld sifalla 38l

(© éawll sidsla y&t

@) siudl sefalla yelo
' (P.T.0.]



15.

16.

17.

In regression line, what Analysis of
variance (ANOVA) calculates ?

(A) z-score

(B) chi-square

. (C) t-score

(]j) F-ratio

Interest on Borrowed capital of a
self-occupied property acquired (or)
constructed after 1st April, 1999 (or)
for renewals (or) repairs is
deductible for the AY. 2019-20 is
upto :

(A) T 30,000

(B) %-1,00,000
(C) T 1,50,000
(D) T 2,00,000

reeerensemsssnessssenenssenses 15 @ Single product
that marketer offer to its market for

consumption.

(A) Product line

(B) Product length
(C) Product mix width
(D) Product depth
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15.

16.

17.

Rad Adeia v, Ruwd @A
(ANOVA) 2l ol 53 & ?
(A) PSR

B) -l

() A4

(D) AHA§-9JRlR

austaell arl 2019-20 el Wil
wad-l und s3d Rasd w1 10a
1999 wedl erude (u) g eriaqr
W2 (w) vanid sa1 w2 Gl dldg
Yol uR cuy-l suidd wm A
8

(A) % 30,000
(B) T 1,00,000
(©) T 1,50,000
M) T 2,00,000

......... A As A ¥ wher A
o2, Gueqiop W2 A ),

(A) iS5 AL
(B) MiSse @~
(C) Misse Hla [su

(D) Wisse vy



18. IFCI stands for :

(A) Indian Financial Corporation of
India |

(B) Industrial Finance Corporation
of India

(C) Indian Finance Coﬁpany of

 India

(D) Internatiohal Finance

Corporation of India

19. Ainongst ‘the following theories of

recruitment, which one is not

related to. it :

(A) Objective f;actor theory

(B) Critical contrast theory
(C) Critical approval theory

(D) Subjective factor theory

'90. Which of the following tax is

'lévied in -the case of Inter-State
Supply ? |

(A) CGST
(B) SGST
(C) UTGST
(D) 1GST

Commerce-11

18.

19.

20.

IFCI <l 4 & :

&) Bedlunt siSu=llaa AlIan
wlig S-elul

(B) 'bvsailqet Sl Sl i
Seslun

(©) S-S s1S-u sul s
Heslyt

@) Sreand siru-d ANlIuA
wig S-Sl |

A Qugidl U4, sy odl wd
dAsonda ol 7 |

(A) Ga uRen Rigid

B) ¥Ad _Qudd wWRea Rgid

() ¥da uRea Wy Rsid

©) aldasl WRea Reid

id A yrast (ae-) i Bruni
QA AN sul s ayaani »ud
Q7 | L

(A) CGST
(B) SGST
(C) UTGST

D) IGST
| [P.T.0.]



21.

292,

Intemational trade theory which

provides that capital intensive

: COuntry should export labour-

intensive goods and import capital

goods is referred to as :
(A) Mercantilism Theory

(B) Leontief Paradox

(C) Heckscher-Ohlin Theory

(D) Theory of Comparative

Advantage

The correct sequence of preparing

final accounts is :

~

(A) Journal, Ledger, Trial Balance,

Balance Sheet

- (B) Ledger, Trial Balance, Balance

Sheet, Journal

(C) Trial Balance, Balance Sheet,
. Ledger, Journal |

(D) Journal, Trial Balance, Ledger, -

Balance Sheet

Commerce-II |
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21.

22.

it AR Rigid 3 % Y1 ws

8 3 48 wan 3 a—uan e

Fsi sl AT A zud 3gl
Miad s sl ASH .

&) (iFraellsm) Rigic
(B) dlui-dls Ausia

(©) ds5-veel4 Rigia

D) ga-iicis amvﬁ Rugict

Alldls (Rael AU sa- AL s34
69 :

() sl wg, s w3, uig

A3y

(B) “id, a&; Udy, wg Ay,
IEEIER

(©) 513 A3y, wg QY v,
wHIY

(D) -, 513 AAY, vud, wg

Y



23.

24.

in the case of Giffen good :

(A) the substitution effect is more

than the income eﬁ'e_ct

(B) the substitution ‘effect and

income effect are same

(C) the income effect is more than

the substitution effect

(D) the income and substitution

effect cancel out each other

Which among the following is the

correct character of the foreign

exchange market ?

(A) Foreign exchange market is
domestic market

(B)
operated within a country

(C) Foreign exchange market is
dynamic and round the clock

market

(D) Foreign exchange market is

used only for trade related

transactions

Commerce-II

Foreign exchange market is

11

23.

24.

olgln argru Aeelui :
(A) ADVA Bl 25 AU Sl

qy ¢id 8

(B) »AHAL 1A Bl AR AW

sly 8
(C) a5 YRR 21 AW AU Sl
ay slu 9. |
(D) ilds U 21 AdY HAR
Asoflog «lloge 3 €
SAuuidl sy @zl QR t;tm-j,
%ua, ama 1 o
A) Rzl [ o0 wils s
8
(B) @Rl ARHY wmR A a5 20
yagd dulad &
© [ RRw oo A Rl

wieL HElUIOU SI2 HFOL §g AR

D) Rzl RAHY 62U §5d AUR
doifid asIAl Gudion w2

[P.T.O.]



25.

26.

27.

| (C) Mean

One of the characteristic of normal
distribution is :

(A) Mean > Median > 41\.lIode

(B) Mean < Median < Mode

Median = Mode

(D) Mean # Median # Mode

What is the maximum rate which

can be imposed by a State
Government under SGST Act ?

(A) 28 percent
(B) 20 percent
(C) 40 percent
D) 24 p.ercentl

Long-term Capital Gain on listed

equity shares, units equity oriented

25.

26.

27.

mutual funds (or) business trust is

exempted for the A.Y. 2019-20 u/s
112A is upto :

(A) T 2,00,000
(B) % 3,00,000
(©) % 1,00,000

(D) ¥.50,000

Commerce—I]
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(A) MW

Wiy [Adl s qraellsdl

8.

> HBERY > ogds

(B) HHS < HRRY < olgds

(C) MBuS = Yoy = ogas

(D) M # HERY * ogds

SGST RRUY viddld N A2SR
HeuH fedl s+l g3 alel ud ?

(A) 28 28
(B) 20 21
(C) 40 esl
D) 24 251

2U5138(1 9 2019-20 u/s 112 A Yot
Aludd §5<ldl A, S5clél sl aall
wand $5 (A1) dafly el diol
WAL HEL AST 5Ys5d B :

(A) ¥ 2,00,000
(B) % 3,00,000
(C) ¥ 1,00,000

D) 2 50,000



29.

30.

....................... is the act of designing
the company’s offering and image
to occupy a distinctive place in the

minds of the target market.
(A) Positioning

(B) Valuation

(C) Pricing

(D) Commercialization
NSDL denotes :

(A) National Supply and

Distribution Limited

(B) National Securities Depository
Limited |

(C) National Securities Deposits
and Loan

(D) National Securities Develop-

ment Limited

The concept of classical conditioning

was given by :
(A) Sigmund Freud

(B) Ivan Pavlov |

- (©) B.F. Skinner

(D) Jean Piaget

~ Commerce-II
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29.

30.

....................... 2, 48 AR HAHL RS
QARre 2t soF s W2 Su-ld-l
“ulgla’ wA SRy B
sl Bu 8.

a) Raly

(B) H&uis
(©) [3ud

D) Awlsw

NSDL said £ :

(@A) Ard Wy As Skdlegud

dlMles

B) durd Rsydy sluikled
dll2s

© A Rsylda, slulfled »-s

dl- o
@) Aura Rsyds Sadiuid-e
~dbiles

Rive - géniel vy s‘ua‘t- A TREN |
el ? | |
(A) é[bu{s 5155

B) Sairt wadia

(€) oll.ng. AR

D) 2+ l2u%e
| [P.T.0.]



31.-

32.

- 33.

Which of the following is not the  31.
_ agency of World Bank ?

(A) MIGA

(B) ADB
(C) 1CSID
(D) IDA

32.

When shares are issued at a price
higher than par value, the excess
of issue price over par value

IS8 eivvierenrennnnn. .

(A) Capital Profit

(B) Capital Reserve

| ‘(C) Revenue Profit

(D) Revenue Reserve

The law of diminishing returns only

applies in cases where :

(A) there is increasing scarcity of

factors of production

(B) ‘the price of extra units of a

factor is increasing
(C) there is at least one fixed factor
of production '

(D) Capital is a variable factor

Commerce—IT 14

33,

Anizl 58 [Qeasisl 1 ) ?

{(A) MIGA

(B) ADB

(C) ICSID

(D) IDA

BUIR A1 d-l ya Buadl ag Bud
Gl WAL 2 & 2l 4 Baud
s34l AR o8l wsaldl quii-l

---------

(A) Y8l «si

(B) iél AL
© Haydl 'tir\l‘
D) Heyell wieitrd

Hedl HAdR (AadR) -l MuM ssd
al Bl ay us 8 oy

(A) Gewstl a~ti-l vie9d agl 24l
®

(B) AL a1l MAsudl Bud
adl W &

(C) Geuteny, ileoiul vligg s W
Raz ®

D) 48l A Ry aar 9



34. Gordon’s model relates to : 34. Gordon < Hisd RAsifad & :

(A) Reserve Policy ' (A) a»t-tbm lla
(B) Capital Policy . ®) 38 AR
(C) Fund Policy | (©) ecisin IR
(D) Dividend Policy - D RRs-s AR
| 35. Stratified sample is S - within  35. Qdﬁ.cl B&Q[ '«'»licl'-'ﬂ!x 'él&
| and ................... between the strata. A ... - . Qﬂil_ “351 gy 8.
(A) -Homogenéous, Heterogeneous A Wl veunel _\
(B) Homogeneous, Independent (B) wiAdell, adat
© Hetefogenaoué, Homogeneous - (©) ?*l%l"ll'tﬂ'gﬂ, %l‘il'l?j,laﬂ
~ (D) Heterogeneous, Independent D) eurRll, AdA

36. Short-term Capital Gain of unlisted  36. U518l @ 2019-20 %i M-l

companies for the A'Y. 201920 is ~ $U{lvl-ll 381 Suatu 3sl 5L W

taxed at : - sl é-Q : | | |
A 10% | @ 0% |

(B) 15% | (B 15%

C) 20% | | (©) 20%

D) 30% - @) 30%

_Commerce-II ' 15 . P.T.0.]




317.

38.

In the Company Act, 2013 under

definitions  sub-clause 45;
“Government Company means any
compahy in which not less than
R percent of the paid up
share capital is held by the Central
Government or by any State
Government or Governments or
partly by the Central and partly by
one or more State Governments and
includeé a company which is a
subsidiary company of such a

Government company.
(A) 41 percent

(B) 45 percent

(C) 49 i)eroe‘nt

(D) 51 percent

Marketers have traditionally
classified products on the basis of
three characteristics ........c..cceereenane ,
tangibility, and use.

(A) availability
(B) affordability

(C) 'aestheticé

(D) durability

Commerce-11I
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37.

38.

sudl :fMud, 2013 M Vel san
45 | vzl s : 14 sudl
aed sidua sudl 3 ¥l WSS

A2 3lea 251 5ctl iy

4 did A 3w ARSI Al Adwe
Y LS. AAAL S SR ™AL
vad I gl A BUd N5 YU
q8 2% AR @13l AL i AS

AISLAAL A% Ay 9 7 2udl

| AsLR ..s;n-ﬂ&l Qe su-l .

(A) 41 251

(B) 45 251 .
(C) 49 25l
D) 51 251

wieAd oo cmellsdleiiqt s
YIydtd {d Geuienid adllsa sy

B i , el 2 GudlaL.

(A) MWl

(B) R4S ddl

(©) died wnllu

(D) 256 g



39.

40.

41.

The Workmen’s Compensation Act

is enacted in the year :
(A) 1921
(B) 1923

(C) 1922 o

D) 1924

The Minimum capital Adequacy

Ratio (including capital

'39.

conservation buffer) under Bésel I

NOTINS 18 .evvvnrevenrrernnns .
(A) 9%
(B) 10%

(C) 10.5%

, | D) 12%

Depreciation allowed on Intangible
Assets (know-hqw, patents, copy
rights, trademarks) for _the AY.
2019-20 is : o

(A) 5%

- (B) 10%

(C) 20%

(D) 256%

Commerce-—II
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40.

4]1.

QA and 2ARAY saL

sl el 8 ?
(A) 1921
(B) 1923

©) 1922

(D) 1924

Ao TIT +4. il Q60 ettt 38l
wyliddl uul (348l Aam ulaias
8. -

{(B) 10%
©) 105%
D) 12%

wusel ad 2019-20 W2 g,
Blasdl (s, Ve-e, sRess,

Al wsh) wR BuRl HYR 8

(A) 6%

- (B) 10%

(C) 20%

D) 26%

. PTO] |



42, i i85 @ cOSt unit Of 42, aeee..... A §S vSa] uSd AsH

- crude oﬂ. _ 8.
(&) Barrel A) A
(B) Litre  ® e
(C) Gallon L ©) At
@) Kilogram | @) Besux

~43. ‘The utility from a bundle of goods ;o s argell Wear (vise) Hisgl

will be maximum when the adl ool wsun ad ol eds

oini o) ik mmodity
marginal utility of each commodity g Ruid gieya e Gad

is equal to the price multiplied b . ‘
°d P P y geut tteirl RiMia gélda iy’

the marginal utili of money.” Who - :
ST 4 d [Qaidt si@ vy & ?

has given this statement ?

: A) [Rsy
(A) Hicks _
| (B) vsH Buy
(B) Adam Smith |
(C) Marshall ' ©) wda
| (D) Ay

(D) Samuelson

44, IMF was formed in : 44. IMF A R w8 ""‘a v

(A) 1945 (A) 1945
(B) 1946 | | (B) 1946
(©) 1947 . © 1947
®) 1948 (D) 1948

. Commerce-II ' | 18



45. You obtained a sample of data that

has relatively normally distributed
_'and h_ad no extreme scores. Which

measures of central tendency you to

know average of this information

(A) Mean
(B) Median
(C) Mode.

(D) Harmonic mean

. Rate of tax deducted at source for

winnings from Lotteries for the AY.

2019-20 (excluding surcharge,

health and education cess) is :
- (A) 10%
(B) 20%
(C) 30%

D) 40%

Commerce-II
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45. ¥ Medui uled z_wlat a ey

RAd 9314 8 2 dui wcifds 1;—1&
fl Ag o Minet 530 65l i Rl
AN WAL A 3y a1 ﬂﬂm

Gueﬂﬁmi aul ? -

(A) WS

(B) 4eA

(C) aigds

D) SIAUSHS HEAUS

. susiell avl 2019-20 i dizdluisl

Ad Y YR YN AUAYL 5 SWd-L

e (R, WA A e Guse

Riaw) & :

(A) 10% .

(B) 20%

(C) 30%

D) 40%
[P.T.O.)



47.

48.

~ Contribution made to an approved
" university, college (or) other
: Institﬁtions for the use of scientific
. research, related (or) unrelated to
the Business of the assessee,
| weighted . deduction for the AY.
© 2019-20 .is .
(A) 30% |

(B) 50%

(0) 5%

D) 150%
The “Official Liquidator” means an
official liquidator appointed under

sub-section (1) of SeCtion .vevererernnnns

of the Company Act, 2013.

(A) 351

(B) 359
(C) 361

(D) 369

. Coxﬂniercé—ll

20

47. 2us2efl ¥ 2019-20 Mi $eldil

e iR () BeridRa dalis

dalaetrl Gualol W2 ey yRakid,

51A% (W) vy A2, 28] 2194

sl R sWd § -
(A) 36%
(B) 50%
(C) 75%

D) 150%

| o iBRuA Risddzr’ e sudl

wAlAud, 2013 u [Qeua

A A2 sad (1) o0 Rysa sia

ARRAA RS’
(A) | 351
(B) 359
(©) 361

(D) 369 -



49.

50.

51.

(B)

Which of the following is an

example of a pure service ?

| (A) air travel

(B) psychotherapy
(C) baby oil

(D) a laptop
DEMAT stands for :
(A) Detailed Minimunlx Alternate
Dematerialised Automation
© ” '

Dematerialised Account

(D) Default Minimum Alternate

\Tax

Sociometric analysis designed and

developed by Jacob Levy Moreno is -

primarily associated with .............. .

(A) Motivation

(B) Perception

(C) Group Dynamics

(D) Attitude

_ Commerce—I1
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49.

50.

51.

rﬂ?lvﬂ%i%ﬂ sy de Adg Geler
81 |
(A) sauS us

(B) a-a:aar e

© “aoll A

D) ‘;éua‘m”

DEMAT 124 -:

(A) Sl2es MMM vileerA2 ‘é&t. :
(B) SHAuAENS :»i‘témalvt_ |
(©) SMARUSHS 5162

) -élﬁc-a IR[&HH Q»f{c-az-la é&t, |

Flo Adl Wdw @zl @dlld AE]
Rsld AARRs’’ Rzdna wakis

Al Asild 8.

@) AR
(B) gle
(©) a—alallad

(D) a4a

[P.T.0.]



52.

53.

(A)

(©)

- {A) International

Which of the following is an

‘example of an issue for which an

agreement has not been made

between two or more countries ?
Restricting harmful emissions

(B)

Degp-sea mining in I;on-coastal

areas of the oceans

Preserving endangered species

(D) Banning the use of certain
pesticides

IFRS standg for :

Financial

Rei)orting Statements

(B) International Financial

Reporting Standards
(C) Indian Financial Reporting
| Statements

(D) Indian Financial Reporting

Standards .

Commerce—II

B2.

53.

AAuniell U1 Hel (issue) W2 & W

ay 2l 942 5A 4 Asdl el ?
(A) dsu-sRs gusl adl

(B) ¥isl elRa (it Ray-u

[ARctlRul GSL AUl wiRs

(C) A¥ui 3514 det 91 4 uellvil

() Aaaar

(D) %Fgrilas sai-il Guaidt 4R wRsia

IFRS 24 :

(A) uidUAMZY aisly xndaia
wasl

(B) didlgy waisly Adaa
dasi

(©) ourdla ~umisla uéém WaAst

D) oudld URify vdua Liel



B54. With fixed cost of T 400, a firm has  54. ¥ 400 ~it Ru2 vl d, Ul U

55.

~ b6.

average total costs of ¥ 3 and

average variable cost of T 2.50. Its

- output is ...ceevieeeienns ;

(A) 200 units
(B) 400 units
(C) "800 units
(D) 1600 units

Right to sell security is called .

(A) Sell option

(B) Put option
(C) Call option

(D) Double option

Which of the following measures of

central tendéncy is not sensitive to

. extreme values ?

(A) Mean
(B) Median
(C) Mode

D) Harmonic mean |

Commerce—II
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55.

wa 73 21 A1 2RAR A T 2.50

8. dl dd éél GWet ...
(A) 200 ¥AsHl

(B) 400 A%l

(C) 800 sl

(D) 1600 HAsML

Alo(1R] Al 57 58 B 1 |
(A) daue v

B) Y2 :»ﬁtalri

(C) Se v

D) Seid vl

56. Yvely aagi-i qul ALl AA-umiell sy

yy wails el ud Adedla
1l ?

(A) S
(B) H®¥Y
(C) wgas

(D) SLRAGLS HUS
| [P.T.O0]



67. Expenditure for Skill Development 57. wusiell ad 2019-20 u/s 35 CCD

8.

59.

ws 36 CCD, a weighted deduction

~ for the A.Y. 2019-20 allowed is :

(A) 50%

(B) 100%

© 150%
®) 5%

Flaw in capacity to 'may arise

from ......... — .
(A) Minority

(B} Lack of free consent

" (C) Lack of consideration

(D) Absence of legal formalities

Whjéh of the following is the first = 59

step in setting a pricing policy ?

(A) selecting a pricing method

- (B) selecting the pricing objéctive

(C) determining demand

(D) estimating cost

Commerce—IT
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oot Sluey Qs vl ouRd swd
8 :

(A) 50%
(B) 100%
(©) 150%
D) 75%

$UR Sl QUM €N ...,
Geotdl a3 .

(A) agudl

(B) “$d AR wewa

(©) [Quieu uoﬁq

D) 3@,-[1 SR sl viouq

Rl 54 BudRdl 54l s

Hied uYH vy 9 ?

(A) Gnd‘ua[a—[l yaieoll
(B) BBud-ll 8¢l ude sl
(C) HidL 58l s2d]

D) W+l vislw



| 60.

61.

62.

IRDA was founded - in the

- 1 T .

(A) 1955

(B) 1969
(C) 1982
(D) 1999

Which of the following is not
included in McKensey's 7-S
framework ? | | '
(A) Strategy

(B) Structure

(C) Software

D) Skills

Method study, motion study, time

study, fatigue s.'tpdy and rate setting
are related with e .

(A) Charles Babbage

(B) FW Taylor

<€) Jd émes Watt

{))] Robe;'t Owen

Commerce—_II
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60.

61.

62.

IRDA -l 2auu-i arldl U

edl.

(A) 1955

" (B) 1969
(C) 1982

(D) 1999

Rywertril 7-8 gl LAl suiql

AA AL el ?
(A) el -
(B) ‘tiﬂl\;l,

(©) ¥lg2dr

D) suddl

ygla sy, ald wou, émq
AHOURL, ALS AHOUA WA 22 AR
........... 4 wd ¥l .
A) wel A8
(B) Ns.S01Qy. 2UAR
(©) B die |
D) AE M

[PTO] .



63. The operations of banks and 63, 65l v Rty Al 5192020
financial institutions are not Ruu ag -l |
" regulated by : | L .
| - S (A) €L R oll.>us. wli, 1934
(A) The RBI Act, 1934 _ o
| B) €} olflo Runet airl, 1949
(B) The Banking Regulations Act, _
(©) uledl 2s-ileli @R, 2000

1949
(C) Information Technology Act, - O Su-lly Ay, _2013
2000 64 usdz  wildel  Adl  wdaa
(D) The Companies Act, 2013 ERTRPP 4 9% sl 3% 8.
64. A cost auditor is required to submit C(A) MY USIR

~ his report to the : N -
7 B) $u-l dl eis

(A) Central Government _
. | (C) s1$ g sluiised
(B) Company Law Board .

| D) Su-Dlii-l w212
(C) Board of Directors

| _ 65, aoul udu edidfl gelas
(D) Registrar of the Companies '

_ iyl use sl
65. Market penetration pricing strategy
can be adopted when : A4) oo eudil ag Adeqsdla <l

3

(A) Market is highly price sensitive _
B) -l cua oo+ Qs Galyd

(B) Low price stimulates market

(C) Both (A) and (B) | () (A) A (B) o
(D) Neither (A) nor (B) D) - di (A) 3 B)

Commerce-I1 .26



66.

- 67.

68.

GDR stands for :

 (A) Global Depository Receipt

(B) Global Deposit Receipt
(C) Global Dividend Receipt
D) Global Drawing Receipt

Analysis of variance (ANOVA) is a

test for equality of ................. .

(A) Standard deviation

| (B) Mean

(C) Percentage
(D) Only two parameters

.......................... is the study that

relates with no. of people one can

superwise.

(A) Line of control

~ (B) Length of control

(C) Span of control

(D) Line and staff structure of

" organisation

Commerce-?iI |
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66.

68.
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GDR Qac% :

(A) 2dise Slulflel Wl
(B) 2disia siulfle e
(©) *dlog fé[ﬂés wle
(D) sdiue Gus s

e ([sdMa  (ANOVA)

A A wRawm 52

-----------

(A) uRd [ad-
(B) MeAS

(€) esiuil

(D) ot 6 wadl

------------

2 vey £ F+ll suwiv

=

dlsi-l var WA B,

_ (A) Ruxs v

B) Rdaa deud

(©) R-ta Lumni

D) d2u-l as A wisd uay

[P.T.O.]



69. UPI denotes :

70.

71.

(A) United Payment Interface
(B) Unity Hogram for India
(C) Union Progressive India
(D). Unified Payment Interface

When is a pull strategy
appropriate ?

(A) when there is low brand loyalty
(B) when consumers are able to

perceive differences between

brands

(C) when brand choice is made in

the store

69.

70.

(D} when it is a low involvement

purchase -
The omission of the creditor to sue
within the period of limitation :
(A) Discharges the surety
(B) Does not discharge the surety
(C) Makes the contract of
gua‘rantée void

(D) Makes the contract of

‘guarantee illegal

Commerce-I1
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UPT eald & :

(A) Yruses WA~z Hr233y

(B) y[Hd uwiun si iSrslz.u
(© yRuq iR u‘laleﬂq ol
M) yRsds VA2 S8y

daad egera-n (ya Pio) sud
qioy & 7 |

(A) BUR ais asieldl il ¢iy

(B) %413 el 6iS AL agldda
AUTAUML AN Sid &

© wud @A wisl waisall
SAUML 1A U

D) PR A WLl ey wulre
iy

ayfeidl anyonou-l (el eldl

sl Avelx-l sugoudl :

(A) A~

(B) ﬁ*ﬂ-{—g(&a sl el

(C) AT s woudd, 5

(D) ALl $A AHUBAL @-UQ

2]



72.

73.

74

Dividend received by a residential

shareholder for the A.Y. 2019-20

from all foreign companies are :
(A) Fully taxable | |

(B) Fully exempted

(C) Taxable ﬁpto ¥ 5,00,000
(D) Taxable upto ¥ 10,00,000

The Maastricht Treaty of February
1992 renamed the European
Community (EC) as :

(A) The European Union (EU)

(B) The European Economic Union

(EEU)
(€) The
. Community (EEC)

European Economic

(D) The European Monetary Union

(EMU)

Primary packaging cost is an

example of ... .

(A) Seiling cost

(B) Indirect cost
(&) AOverhead cost

{D) Direct cost

Commerce-I1
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72.

73.

74.

sl ad 2019-20 v sa
A6ies2 o]l Rzl Su-latisiel

| Halq [Slass & :

(A). Y34 S

| (B) 434 5345

(C) T 5,00,000 Yell s3WA
D) % 10,00,000 ge[l 53U2L

30120 1992 ~l mz«élsz a[ﬁ&
guﬁmq sIye Ad M

A) 4 gu[ﬁtm YAy (EU)

B) 4 guﬁmq SsiAlis yRust
(EEU)

(©) a yRiluud Ss-ils sy-{ld
(EEC)

(D) & YRiNYA HiAel YRu(EMU)

waMs 3o, Ysd At

USdq GelsE 8.
(A) AR YSdR
(B) MRU&L USdR.
© RAUR usd?
D) UcHY USdR

[P.T.O.]



75. The market demand curve for a
perfectly competitive market is
QD = 12 — 2P. The market supply
curve is QS = 3 + P. The market

will be in equalibrium if :
A P=6,Q=29
B) P=5 Q=2
©P=4Q=4
@) P=3Q=6

76. The quotas of all the member
countri_es with the IMF are valued

in terms of :
(A) GDR
(B) SDR
(C) ADR
(D) ODR

77. In normal distribution, value of
skewness and kurtosis are ............. ,

S respectively.
(A) o, 0

(B) 0, 3

© ?:,' 0

(D) 0,

Commerce-I1
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Yol ¢dlsiSanon amr e, 4t Hidl
a5 QD = 12 — 2P B. 6192 YRl
A5 QS = 3 + P 9. 6y AHgelHl

el A

(AYP=6,Q=9

B)P=5 Q=2

C)P=4,Q=14

D) P=3Q=6

IMF 08+ o8l A0y 2all+dl $i2l d=il
yeud] Asida O :

(A) GDR
(B) SDR
(C) ADR
(D) ODR

UMY [Qad@Mi (AsMdl A



78.

79.

Children Education Allowance given
for Children’s Education in India

the amount exempt for the A.Y.
2019-20 is limited to :

(A)- ¥ 300 per child per month upto

maximum of two children

 (B) % 200 per child per month upte

maximum of two children

(C) T 100 per child per month uptb

maximum of two children

(D) % 500 per child per month upto

‘maximum of two children

A firm in the course of its business

receives money from a third party.

One of the partners misapplies it :

(A) The firm is liable to make good
the loss

(B) The firm is not liable to make
gbod the loss

(C) The defaulting partner alone is

~ liable

(D) The defaulting partner is not
liable

Cominerce——lI

31

78.

79.

susiell adl 2019-20 i eudA

S e W eins e eieg-l

s Bar{l Hulet &

(A) agui qg; A ouasid wRA
ayas €ls T 300

{B) agul ay o asid wRA _.
onns €ls T 200 |

(©) agui ag o eunsid e
ouas els T 100

@ agui ag A uasid wRA
ouns €ls T 500 |

-l o4 el As Wl qdln

g wiAell AL jaa 8. A m?{lm'
ad widl Ad Gudiol 52 :

(A) UL WL Wiz saL W2 FAUALLR
3 |

B) Ul W w2 5aL HIe FAUMER
gl |

(C) dsdl sy s34 *wd(lelr
YAUNEIR B

D) $YR S3-U eudllelx waselR
¥l
| [P.T.0]



80. Which of the following elements of

the marketing communications mix -

involves a variety of short-term

incentives to encourage trial or

. purchase of a product or service ?

81.

82.

(A) advertising

(B) direct marketing

(C) public relations

D) sz_iles prbmdtion

PMJDY — a finaﬁcial inclusion
program denotes :

(A) Pradhan Mantri Jan Dhan

Year

(B) Pradhan Mantri Jan Dhan

Yojana

(C) Pradhan Mantri Jan
Development Yojana

(D) Pradhan Mantri Job

Development Yojana

“The Interpretation of Dreams” is _

the book authored by :
(A) B.F. Skinner

(B) Sigmund Freud
(©) Carl Jung

(D) Erick Er_ickson

Commerce—I1
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82.

WiRa siyRda-u Biaseu A
dccilnigl sui Gevledl vaan Al
soraa vadl MR WURd
s W2 [y gsouairl daitsHi-l

AMdy 53 ) ?

(A) AdUd

(B) Alg W3l

(C) Wa el

D) dR ‘Wi’

PMJDY — -usudly a0y silsy
yad d :

(A) et Holl o Suz

(B) Ui~ ={%ﬂ gl Y Yi%ril

(C) Mt oAl %+ Sadivdire Yix-l
D) uer bl Ao Sadludlez d
vl veuzd” Yads Auis
A) ofl.9s. AR

(B) Adpis ASs

©) sid %o

D) ARs Al sur



83.

84.

©

As per the Foreign Trade Policy

2015-2020, a three star export house

should have :

(A) Export performance (FOB/FOR)
of US$ 100 million during

current and previous two years

(B) Export performance (FOB/FOR)

df. US$ 500 million during
current and previous two years
Ekport pgrformanbe (FOB/FOR)
~of US$ 1000 million during

current and previous two years

(D)
of US$ 2000 million during

current and previous two years
A company is an example of a :
(A) Cost Ceﬁtre
(B) Production Centre
(C) Profit Centre

(D) Cost Unit

| Commerce-I1

Export performance (FOB/FOR)

83.

84.

Rea ewwr <l 2015-2020 Y=o,
AQ 2wl sl elGuUl slan

A :

(A) s sl (FOB/FOR) g
af w1 wearn 4 @ st
US $ 100 (faun

B) (s 514203 (FOB/FOR) ug
af 21 wea A al s

US $ 500 Bulaut

() M 510031 (FOB/FOR) Ag
al A weaHt 6 ad e%uA
gL 6 A €341 US $ 1000

Glaun

@) Rusia 3003 (FOB/FOR) g
adl 27 WAl A ayl e3uux
Yesoinl & 9l g2 US $ 2000

Bl

Ciudia) Gelead B -

(A) USdR 3w
(B) Gewe 3w
(C) 8L ¥

(D) uSdR WY

[P.T.0.]



85. When demand is price inelastic : 85.

(A) price and total revenue change
in opposite directions

(B) a seller should decrease the
price to increase total revenue

(C) too few goods are being
produced from society’s point of
view o

(D) price and total revenue change

in the same direction

86.‘ The correct-formula of Walter’s

-dividend model is :

(A) P=D/Ka =9

(B) P = D/Kg
(C) P = D/Ke
D) P = D/Kg = a

87. In chi-square test of hypothesis,
v null hypothesis state that variables

1 4 S .
" (A) Dependent
. (B) Independent
(C) Cause and effect
(D) Random |
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86.

81.

oY niol BFud -y Sy

(A) Bud 21 54 a»tmalvﬁai'u&qc[-{
Qso[l%_lr[l (A3g Rami

B) &4 duMe{lHi aul s W
QA [Buani vas] sl ASA

(©) Wizl gR2siadl ay il
dRgally Bedled s 20

D) Bud 21 g4 sune-ldi A
[Raui 3412

Walter il (8[ass sad w3y yYouis

CN

9

(A) P=D/Ka =9

(B) P = D/Kg -
(C) P = D/Ke
D) P=D/Kg=a

ulRseudr  wlaadl siS-aolwi,
RRus2e-l uRseurn oud 8 3 adl
.......... 9. | |

A) walRd
®) wdoA
©) 5138 A WA

D) ugs



© 88. The value of unfurnished Rent Free ~ 88. Usiell 4l 2019-20' e *ulas-l

Accomodation owned by the Yl sl Birnaddan eust
employer of private sector employees Y 5 Q@&Qli ey el &iaLell
where the population exceeds 25 sl oui axll 25 et 53l ag

lakhs, the basis of valuation for the S A yeuis Al AR B

AY. 2019-20 is : |
(A) wouR-l 10%
(A) 10% of salary
(B) Wwutt 7.5%
(B) 7.5% of salary
(C) WAL 20%
(C) 20% of salary '
(D) vAutt 15%
(D) 15% of salary
- 89, A elarl s+ pwB Hdl sAR
89. If a new contract is submitted in '

gl $UML A B dl A sdaul
place of an existing contract, it is '

called : wd ©
(A) Alteration A) 32812
(B) Recession (B) ¥el
(C) Remission | (C), 1-1,[3:(-.1,
(D) Novation o D) Adls.

Commerce—1I 85 | - [P.T.0]



91.

92.

aims to create

------------------------------

. liking, preference, conviction, and

purchas;a of .a product or -service.
(A) Corporate advertising

(B) Reminder advertising

(C) Persuasive advertising

(D) Reinforcement advertising

Coaching, Role Playing, Case-study,
Simulation are the popular methods

felated with which :

(A) Recruifnient

(B) Selection

(C): Training and Development
(_D), Retrenchment "

ETF stands for :

(A) Electronic Trade Funds

(B) Exchange Traded Funds
(C) Exchange Tariff Funds |

(D) Electronic Teller Funds
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91.

92,

......... L &g, Gewe viual Aawdl

e, wdedl, wladl a4 w3l

 oldladl, 8.

A) sivlie ?atézm

B) s Wd
(©) wioazol Adud
D) wci[észelrﬂ % 2Udt

ARLL, e @dlal, 3y w8, Ay

-------

A disBy uglvl 8 ¥
AoifAd B, l'

(A) Madl

(B) wieoll

© wdly 2 Qs

D) el

ETF 2]

(A) &S&#;“L[Hss 25 $83
(B) wad-y 28s $5%

(0 ad= 2§ ssv)

D) SAs2iFs 24§83



93.

94,

What is the popular term used for

that type of option in Foreign

Exchange Market which provides

the holder the right to purchase or

sell foreign currency at the most

~ favourable exchange rate realized

over the life of the option ?

| (A) Forward reversing option

(B) Look-back option
(C) Preference option

(D) Basket option

Contribution is the difference

be_tween :

(A) Sales value and variable costs

of sales

(B) Sales value and fixed costs of

‘sales

(C) Sales value and period costs of

sales

(D) Sales value and overhead costs

-of sales |
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93.

94.

gl [almu oo™l s3L UsL-U

ey W weae yedl Gualdl wi
Bd g% aus Qe aas wlea-dl

Cvadl dadidl w5 SIULLSRS

RARMA £2 Rseurt adsiani Al

g RRHY e ?

(A) sikas Adallor viirvaq

(B) 4508 a»t‘ltaivt

(C) .ﬂszra et

(D) o2 VWA

sl B A @l dslad 8 ¢

(A) QQuQL YEU e, Q2L AR vl

(B) &mei HEY Bin AYIRL-L asqiell wal

(C) QAR Heu A AR AHY-L
vyl

@) A Heu 2R ey R

w2l

[P.T.0.]



95.

96.

97.

If you know that with 8 units of
output, average fixed cost is ¥ 12.50 -

~ and average variable cost is ¥ 81.25,

then total cost at this output level

IS vovsrenerreenneene .

(A) T 93.75

(B) % 97.78

(C) X 750

D) T 88b

MPC stands for :

(A) Money Policy Committee
(B) Member Policy Commiti:ee
(&) Monetary Policy Committee
(D) Molnetary Public Committee

As the sample size becomes larger,

the type-I error probability .......... .
(A) Increase

(B) Does not change

) Decrease :

(D) Infinite
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95.

96.

97.

R} ol 6L 38 sl Gedten
A, uA A Wi T 12,50 2
AU 2R WA T 81.25 B, dl 2l
Beulerirl W o wAdd w2

R

e £9.
(A) % 93.75
(B) ¥ 97.78
© T 750
D) 3 88d

MPC »ed :

@A) - il al

(B) uey {lla ufHla
(C) ~uaislu lla uaM™
D) isly méz eI

%4 [Fedd s¢ ad (g a), du uam
Ustl sivt () Al Aona-u

.............

(A) ad
(B) oiedldl =
(C) "2

D) N



. Mr. Smart lends ¥ 5,000 to
Ms. Sweety. Mr. Smart tells Ms.
. Sweety after a week that she need
not repay the amount; the contract
is discharged by ....................... :

(A) Breach
(B) Waiver

(C) Novation
(D) Performance

. During which of the following stages
in new product development
- decision-making do managers
analyze if they can find a good
thought consumers say they would

try ?

(A) idea generation -
(B) idea screening

(C) business analysis

(D) concept development and
testing

. NBSFO’s :
(A) Non-Bank Statutory Financial
Organisations '

(B) National Bank for Sécuritieé
Fund Organisations

(C) National Bank for Statutory

Fund Organisations

(D) Non-Bank Securiﬁes F‘inancial.

Organisations
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. 3l 2ué Aludl :1AA T 5,000 4 B2
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ROUGH WORK
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